SOLUTION STOICHIOMETRY

Stoichiometry involves calculations to determine a quantity of reactant or product from a chemical reaction using a measured quantity (given) of a different reactant or product (p.234-249).  In stoichiometry calculations, quantities must be converted into ______________ because a _________ ratio from a balanced reaction equation is the only way to convert an amount of one substance into the correct amount of a different substance.  

You now know three equations that allow you to calculate the moles of a substance.

	Equations to Calculate Moles
	    n = 
	    n = 
	    n = 

	Quantities Needed to Complete Calculation 
	
	
	


The method for solving stoichiometry calculations remains the same with solutions (p.348-355).  These steps are written in sentences on p.247.

	GIVEN QUANTITY
	
	
	
	
	
	REQUIRED QUANTITY

	mass
	
	
	
	
	
	mass

	solution volume & concen.
	(
	moles
	(
	moles
	(
	solution volume or concen.

	number of particles
	
	given
	
	required
	
	number of particles


Solve the following:

1.
Recall that metal oxides react with water to make hydroxides.  If 15.0 g sodium oxide is added to water to make a final solution volume of 350 mL of sodium hydroxide, what is the concentration of the solution?




(Ans.:  CNaOH =1.38 mol/L)

*Write a balanced eqn.

and record given data

under it.

*Use one of the equations

from the table at the top 

of the page to find moles 

of given substance

and do the calculation.

*Use mole ratio to 

find moles required.

*Convert moles to required 

units using one of the equations 

from the above table.

Complete these questions in your notes:









2.
Silver chromate is insoluble, forming a brick-red precipitate.  What mass of solid silver chromate forms when 50.0 mL of 0.100 mol/L silver nitrate reacts with sodium chromate?







(Ans.:  mAg2CrO4 = 0.829 g)

3.
If 325 mL of 1.75 mol/L NaOH reacts with H2SO4 to make 420 mL of solution, what is the concentration of Na2SO4 produced?



(Ans.:  CNa2SO4 = 0.677 mol/L)

Homework:
p.356 #3, 5; p.355 #13 

SOLUTION STOICHIOMETRY

Stoichiometry involves calculations to determine a quantity of reactant or product from a chemical reaction using a measured quantity (given) of a different reactant or product (p.234-249).  In stoichiometry calculations, quantities must be converted into ______________ because a _________ ratio from a balanced reaction equation is the only way to convert an amount of one substance into the correct amount of a different substance.  

You now know three equations that allow you to calculate the moles of a substance.

	Equations to Calculate Moles
	
	
	

	Quantities Needed to Complete Calculation 
	
	
	


The method for solving stoichiometry calculations remains the same with solutions (p.348-355).  These steps are written in sentences on p.247.

	GIVEN QUANTITY
	
	
	
	
	
	REQUIRED QUANTITY

	mass
	
	
	
	
	
	mass

	solution volume & concen.
	(
	moles
	(
	moles
	(
	solution volume or concen.

	number of particles
	
	given
	
	required
	
	number of particles


Solve the following:

1.
Recall that metal oxides react with water to make hydroxides.  If 15.0 g sodium oxide is added to water to make a final solution volume of 350 mL of sodium hydroxide, what is the concentration of the solution?




(Ans.:  CNaOH =1.38 mol/L)

Complete these questions in your notes:

2.
Silver chromate is insoluble, forming a brick-red precipitate.  What mass of solid silver chromate forms when 50.0 mL of 0.100 mol/L silver nitrate reacts with 25.0 mL of 0.150 mol/L sodium chromate?




(Ans.:  mAg2CrO4 = 0.829 g)


Notice that both reactants have given data.  This indicates that you must first find the ____________________ reactant, then use it to complete your calculations.

3.
If 325 mL of 1.75 mol/L sodium hydroxide reacts with 95 mL of sulfuric acid, what is the concentration of sodium sulfate  produced?


(Ans.:  CNa2SO4 = 0.677 mol/L)

Homework:
p.355 #13, p.352 #7, 10 

SOLUTION STOICHIOMETRY

Stoichiometry involves calculations to determine a quantity of reactant or product from a chemical reaction using a measured quantity (given) of a different reactant or product (p.234-249).  In stoichiometry calculations, quantities must be converted into ______________ because a _________ ratio from a balanced reaction equation is the only way to convert an amount of one substance into the correct amount of a different substance.  

You now know three equations that allow you to calculate the moles of a substance.

	Equations to Calculate Moles
	    n = N 

          NA
	    n = 
	    n = 

	Quantities Needed to Complete Calculation 
	-number of particles

-Avogadro’s constant
	
	


The method for solving stoichiometry calculations remains the same with solutions (p.348-355).  These steps are written in sentences on p.247.

	GIVEN QUANTITY
	
	
	
	
	
	REQUIRED QUANTITY

	mass
	
	
	
	
	
	mass

	solution volume & concen.
	(
	moles
	(
	moles
	(
	solution volume or concen.

	number of particles
	
	given
	
	required
	
	number of particles


Solve the following:

1.
Recall that metal oxides react with water to make hydroxides.  If 15.0 g sodium oxide is added to water to make a final solution volume of 350 mL of sodium hydroxide, what is the concentration of the solution?




(Ans.:  CNaOH =1.38 mol/L)

*Write a balanced equation

Na2O        +        H2O        (        NaOH

and record given data




under it.

*Use one of the equations

from the table at the top 

of the page to find moles 

of given substance

and do the calculation.

*Use mole ratio to 

find moles required.

*Convert moles to required 

units using one of the equations 

from the above table.

Complete these questions in your notes:









2.
Silver chromate is insoluble, forming a brick-red precipitate.  What mass of solid silver chromate forms when 50.0 mL of 0.100 mol/L silver nitrate solution reacts with sodium chromate solution?





(Ans.:  mAg2CrO4 = 0.829 g)

*Start by writing a balanced equation.

3.
If 325 mL of 1.75 mol/L NaOH reacts with H2SO4 to make 420 mL of solution, what is the concentration of Na2SO4 produced?



(Ans.:  CNa2SO4 = 0.677 mol/L)

Homework:
p.356 #3, 5 

